Tuesday, February 06, 2018
7:41 PM

saving journal files Page 1



Precale 5.1B Simplifying Trig Expressions Name: M

Factor the following algebra expressions:

# xy +x' GCF! # 20 +z #3 x'4+2x +1
PICEE S 2(y%+1) CXE+1) (X7+1)

For each of the following trigonometry expressions:

1) Factor. (Follow one of the three patterns above.)

2) After you factor, simplify using trig identities. ¥ A yhe 7R . ial
sin’ @cos” @ +sin’ @ csc x +cot” xesex ) cot' y+2cot’ y+1
sinte Ceostorsiate) | = eseXLAEA) ) g2y 41) (ept2y )
Pythag. Tdentity Pythag. Tdenhity | W( tse7y)
= 3in*e (1) = (seX (Cserx) ] 7] ¥mmag To
= |e
=|sin*6 = |ese3x s J 1Hest?y = ey
Use algebra techniques to simplify (factoring, getting common denominators to add fractions, and so on).
2 I+
gy 172 t#sw)LJr L (I-9) LH'Y; U+x) » .4

!rﬁ 2P —47° —52+20

1 (H"'l)l_y 1+y (1-Y) Ly 1+

- 22(2-4)-502-4) | |4 204y2 | y2
(00| Ly + 1-4 |_(z=-g)[2."-f) yli+y) +§?—H¢J=
(%) L4Y(FY)  149) (FY)

Y24 2X+) +Y>
=LI+X 2 Y1+x)
C1+9)(1-Y)
Simplify the following using trig identities. Use the same algebra steps you used fosl"fﬁoblems #4 to #7.
cos'a _ - |-Sinef (-5 1 1" 1-siné __ , 143in6
1—sina 1- S‘Od “..Sj()ﬁ) 1+sin 3 l—sinsfli‘# C1-5inB) 1#5inb) C1-SinB) H5inb)
\

XPyi‘nagl‘d -| = |-Sind+1+51N8_ 2
sine +Cos26=1 ~ u-x;j.&u-sim Y1-3n*8
€o526= -5in"0 = 2o 2-d-cl250s

3 N l+cosx sIn X —
sec’ x—sec” x—secx+1= . +l+cosx=
= Sec2x(secX-1) -1 (secx-1) (400X C[+CoSX) . s)n* X
- 7 C 4 x) ¢
- = |+ CosxX+CoSX +Cos*X Sin® X
= {-m zx) fS(CX"f) Cl+Cosx) S1nd) Cl+Cosx) CSind)

. = | + 208X+ CoStX+ Sin%X
¥ Pyrhag. Tolenmr Cl+Cosx) (S1nX)
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Simplify the following:

I+ 2Ca5X |

- 2CoSX4 2

Cl+CoSXI CSINK) Cl+CosX) CSI1NXD

C D) i A 2
29-1 (Seco+ t)lgeo-l) c :»M) 5103 2 -gox = |2 0sex
= = = (cos #—sin )
sect —1 SCC,O"I) '
; = (Cosp -sin®) ¢ co5B -3inB)
= Secop+ |

= Sin2 x (eserX-1)
= SintX (fOLzX)

= Sin?xX . (82X
SintX
= |f0S3*X

(cot x +cscx)cot x —csc x)

¥ PyHag. IO

Cos2B — 2 5iNB CosB +5in> G

/) - 23inB Cosk

1—-2cos’ x+cos' x

CosIX -2006S5X +1

(Cos ?x -1) (Cos*X -1)
(-Sin2x)(-5in?*X) =

Sin4d¥

¥ pytha. tp
sSin2& +Cos’6-=1
Cos?9-1 =St

TAnY tanx—stec ‘an*x - Seetx
oo an x
= Cot2X -Csc2X X L
= __l ¥ WONA _’.’L_x_—_gc-f—x [— -——l— = —~(’0EX
Taentity Tanx theet
sl;\ g
sec' x—tan' x 2l S Séﬁ&\
=(sec=x-1-an'a<)(sec=x++an’x) secxtl seex]
_ 3 = 24) Sec X-| Secx
= (1) SectX +1an (secxt 1) (secx-1 (sccxri) (secx-t)
= 2 Z
secz + 1an X -2 - -2 - _2eot2x
Sec2y ~| Tan:X
Solve the following triangle. Sketch and label each par“f aeng Z?l?\? a'llfv(?rk.
1:42’,('=90],(:=l2in qo_‘lzcz "’8‘ .b A=42 azg‘oa
s"nyz = -lgi 60542._ B= 4[g° b~ 8.92"
> 4 =12 [2 0oS42° = b =90 c=12in
z . =
3 2 5)”’42- =q b= 8'42'
C a B q= 803"
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